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DIPLOMA IN ELEMENTARY EDUCATION 
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BES-010 : TEACHING OF ENVIRONMENTAL 
STUDIES 

Time : 3 hours 	 Maximum Weightage : 70% 

Note: (i) All questions are compulsory. 

(ii) All questions carry equal zveightage. 

1. Answer the following question in about 
600 words : 
As per the National Curriculum Framework, NCF 
(2005), discuss the main objectives of teaching 
environmental studies at the primary level. 

OR 
What should be the criteria for identifying the 
content for teaching EVS at the primary stage ? 
Give examples to illustrate your answer. 

2. Answer the following question in about 
600 words. 
'Environmental studies' is an interdisciplinary and 
integrated area of study'. Discuss the statement 
with examples to support your answer. 

OR 
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'The concept taught at primary level should build 

a natural link with everyday experiences of the 

child'. Discuss what is meant by the statement. 

	

3. 	Answer the following questions (any four) in 

about 150 words each. 

(a) What do you understand by the term 

ecology' ? How is it different from an 

ecosystem ? 

(b) How can organisms be classified ? Give 

examples to illustrate your answer. 

(c) What are the six key themes included in EVS 

syllabus developed by the NCERT ? 

(d) What is activity based pedagogy ? Give an 

example in the context of EVS. 

(e) What values can be inculcated amongst 

children by teaching EVS at primary stage ? 

(f) What strategy will you use to teach the topic 

'Transport' in the classroom ? 

	

4. 	Answer the following question in about 

600 words. 

Discuss any two activities you would suggest 

children to undertake at home for the topic 'Eating 

in the family' (EVS text-book of NCERT). 
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